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Questions

A high temperature, the proportion of shorter wavelengths radiation, emitted by the body

At the temperature, a body emits radiation which is principally

According to the special theory of relativity, a moving clock

Newton's law of motion do not hold in

The location and speed anywhere on earth can now be determined using relativistic effects
by NAVISTAR to an accuracy of

According to the special theory of relativity

The mass of an object will be doubled at speed

The mass 'm' of a body moving at 0.8 ¢ (whose rest mass is mo) becomes

The Einstein's changes in length, mass and time are not observed in common life because

If a body reaches a speed equal to the speed of light, then its mass will became

If a material object moves with the speed of light 'C' its mass becomes

Which one of the following physical quantities changes with relativistic speed

According to Einstein, with the great increase in the speed of the body, the relativistic mass
of the body

Answers Choice

A. decreases

B. first increases then decreases
C. increases

D. any one of them

A. of long wavelengths in the visible
region

B. of long wavelengths in the invisible
infrared region

C. of short wavelength in invisible
ultraviolet region

D. none of these

A. runs faster
B. runs slower
C. neither runs faster nor slower
D. all of these

A. an accelerated frame of reference
B. an unaccelerated frame of
reference

C. both of these

D. none of these

A. 2 cm/s

B. 20 cm/s
C. 200 cm/s
D. 2000 cm/s

A. mass and energy are same entities
B. mass and energy are same entities
but interconverible

C. mass and energy are different
entities but interconverible

D. mass and energy are different
entities but non-interconveritble

A. 1.6 x 10<sup>8</sup>ms<sup>-
1</sup>
B. 2.6 X 10<sup>8</sup>ms<sup>-
1</sup>
C. 2.6 x 10<sup>7</sup>ms<sup>-
1</sup>
D. 2.6 x 10<sup>9</sup>ms<sup>-
1</sup>

A. 2 mo

B. 1.67 mo
C. 0.67 mo
D. 2.67 mo

A. We dont observer then seriously
B. The masses are too large

C. Their speed is too small than the
speed of right

D. All of the above

zero
. very small

. infinity

. none of these

. Equal to its rest mass

. Four times of its rest mass
. Double of its rest mass
Infinite

UO0wW» OUOwWP

Length

Mass

Time

. All of the above

. Remains constant
Decreases
. Increases to infinity

ow» Dowmr
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Abar 1.0 min length and located along x-axix moves with a speed of 0.75 c with respect to
a stationary observer. The length of the bar as measured by the stationary observer is

If you are moving at relativistic speed between two points that are a fixed distance apart,
then the distance between the two points appers

According to Einstein, with the great increase in the speed of the body the relativistic length

of the body

The length contraction happens only

The speed of a pendulum is measured to be 3.0 s in the inertial reference frame of the
pendulum. What is its period measured by an observer moving at a speed of 0.95 ¢ with
respect to the pendulum

According to the special theory of relativity, time is

The special theory of relativity is based on the

The general theory of relativity treats problems involving

The special theory of relativity treats problems invoving

A non-inertial frame of reference is one, in which

An inertial frame is that frame in which

Which of the following is not an example of intertial frame

An intertial frame of reference is a frame of reference which is

Absolute motion cannot be detected

The concept of direction and position are purely

Electron gun consist of

D. Reduced 10 zero

.1.66 m
.1.0m

.2.66m

. larger

. none of these
. Remains constant

. Increases
. Reduces to zero

A

B

D

A

C. equal
D

A

C

D

A. Opposite to the direction of motion
C. perpendicular to the direction of
motion

D. In any direction

29s
3.0s

96s
absolute quantity

constant quantity
none of these

one postulate

three postulates
four postulates

inertial frame of references

both of these
none of these

DOowm» DOW» DOTH DOmP

B. accelerating frame of references
C. both of these
D. none of these

A. law of inertial is valid

B. all laws of physics are the same in
all frames

D. a=0

A. a&gt;0

C. ad&lt;0
D. none of these

A. a body placed on the surface of
earth

B. a body placed in a car moving with
uniform velocity

D. none of these
A. atrest
B. moving with uniform velocity

D. none of these

B. in a different frame of references

C. both in its frame and different frame
of references

D. none of these

A. absolute

C. absolute or relative
D. none of these

A. three anodes
B. heating cathode

D. three anodes , heating cathode,
grid
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A beam of electrons is provided by an

Flurescent screen is a screen where visible spot

The CRO deflects the beam of electrons, when they passes through uniform

CRO deflects the beam of

(CRO) Cathode ray oscilloscope is a device used for high speed

A magnetic force on an electron travelling with 108ms'1parallel to a field of strength 1 Wb
m2is

The magnetic force exerted on an electron moving with velocity 'v' at right angle to the

magnetic field is given by

A charged particle moving at right angle to the magnetic field will experience

When charged particle is projected perpendicular to a uniform magnetic field its trajectory is

Charge to mass ratio (e/m) of an electron is given by the relation

The e/m of an electron moving in a circular path in a magnetic field is equal to

Centripetal force for electron is given by

When an electron enters in a magnetic field right angle to its motion, the magnitude of its
velocity will be

In the expression of force experienced by electron, the direction of both v and B are

If volume of wire is 'AL' and there are 'n' numbers of charge carriers per unit volume, then
the total number of charge carriers are

Lorentz force is defined as

The force experienced by charged particle is maximum, if it moves

oow®
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V/2B<sup>2</sup>r<sup>2</sup>
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. Suppray
. Injection
. None of these

. vanishes

none of these

gravitational field
magnetic flax
magnetic field

proton
a-particle

neutron
velocity
time-velocity

none of these

10<sup>5 </sup>m
10<sup>-10</sup>N
10<sup>8</sup>N

F=e<sup>2</sup>V/B
F=e/VB
F=B<sup>2</sup>/ev
minimum force

zero

moderate force

. elliptical
cycloid
straight line

.e/m=

V<sup>2</sup>/Br

. mv / r<sup>2</sup>
. mv<sup>2</sup>/r
. mr<sup>2</sup>/ v

. changed

zero
. none of these

. parallel
zero

. none of them

n/AL
Al/n

nA/L

q(ExB+V)
q(ExV +B)
a(ExB)

none of these

becomes small and large

e/m = 2V/Br<sup>2</sup>
e/m = 2V/B<sup>2</sup>r

. VIB<sup>2</sup>r<sup>2</sup>
V<sup>2</sup>/Br<sup>2</sup>

parallel to magnetic field

opposite to the magnetic field
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41 The force experience, when proton projected in a magnetic field with velocity 'v' is

The force experienced by an electron projected in a magnetic field B with a velocity V is
given by

The force experienced by a single charge carrier moving with velocity 'v' i magnetic field of
strength 'B' is given by

When current passes through a solenoid coil, it behaves like a

The strength of magnetic field around the current conductor is

The magnetic field outside the solenoid due to current is

Which one of the following relations is correct?

The magnetic field in the middle of a solenoid due to current is

The Sl unit of magnetic permeability is

Tesla is the unit of

The Sl unit of flux density is.

The unit of flux density is also given by

The Sl unit of flux density is

The straight current carrying conductor experiences maximum force in a uniform magnetic
field when it is placed

The Sl unit of magnetic fluxis.

The total number of lines of magnetic induction pasing through a surface perpendicular to
the magnetic field is called

The unit of magnetic flux is

.-C(VxB)

. te<sup>2</sup>(v x B)
. -e(v<sup>2</sup>x B)
F=e(V x B)

F=¢e(BxV)
Both a and ¢

F =q(v/B)
F=q<sup>2</sup>(v x B)

F=vxB

loop
circle

COmP TOWP» DOU> DO®

none of these

A. Smaller near the conductor

C. Greater at the large distance from
the conductor

D. Constant near and away from the
conductor

A. strong
B. zero

D. uniform

A. 1 Wb-m<sup>2</sup>= Nm<sup>-
1</sup>A<sup>-1</sup>

B. 1 tesla = 104 gausses

D. All of the above

A. weak

C. none-uniform
D. zero

WB mA<sup>-1</sup>
WB Am<sup>-1</sup>
None of these

cow

B. Magnetic flux
C. Self inductance
D. None of these

B. Weber

C. Gaun
D. Weber/meter

Weber/mor Wb . m
Weber/mor Wb . m<sup>-1</sup>
Weber or Wb

oow

Newton-m/Ampere
Newton-m/Amp<sup>2</sup>
Newton-Amp/meter

parallel to the field

At an angle of 45 to the field
None of the above

COT» DOW

Nm<sup>-1</sup>A<sup>-1</sup>
tesla
gauss

cow

B. magnetic flux density
C. magnetic induction

D. magnetic field intensity
A

B

. Weber-m<sup>2</sup>
. Weber-m<sup>3</sup>
C. Henry
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Weber is a unit of

Magnetic flux and flux density are related by

The Sl unit of magnetic flux is

If current through conductor is 1 A and length of conductor is 1m placed at right angle to
the magnetic field, then the strength of magnetic field is

The force exerted on a conductor of length L, carrying current | when placed in a magnetic
field B is given by

The Sl unit of magnetic induction is

A relationship between Gauses of magnetic induction and Tesla(T) is given by

A meter wire carraying a current of 2A is at right angle to the uniform magnetic field of 0.5
Weber/m2The force on the wire is

The Sl unit of magnetic induction is tesla which is equal to

The force acting as one meter length of the conductor placed at right angle to the magnetic
field, when one A current is passing through it, defines the

Gauss(G) is smaller unit of magnetic induction which is related to tesla(T) as

The force acting on a charge moving in a magnetic field

'K' is the proportionality constant of force experienced by conductor. What is the value of 'K'
in Sl units?

A current carrying conductor is placed at right angle to the magnetic field. The magnetic
force experienced by the conductor is

In a straight current carrying conductor, the direction of magnetic field can be found by

The direction of lines of force depends upon the direction of

magnetic filed intensity
magnetic induction
magnetic flux density
Flux density = flux x area

Flux density = flux - area
None of these

NmA<sup>-2</sup>

NAmM<sup>-1</sup>
Nm<sup>2</sup>A<sup>-1</sup>

F = B<sup>2</sup>
F=0

F=B/2

F=IB/L
F=L xBJ/l

F=IL.B
. Gauses

Weber
. Weber<sup>2</sup>

. G 10<sup>-3</sup>T
G = 10<sup>-2</sup>T

COm» UOWP UOWP UOWP U0UP U0UP U0W

. G =10<sup>-1</sup>T

4N
1.5N
6N

cow

B. Newton/ampere<sup>2</sup>-
meter or N/A<sup>2</sup>-m

C. Newton/ampere<sup>2</sup>-
meter<sup>2</sup> or
N/A<sup>2</sup>-m<sup>2</sup>
D. Newton/ampere<sup>2</sup>-
meter<sup>2</sup>or
N/A<sup>2</sup>-m<sup>2</sup>

A. magnetic flux

C. magnetic field
D. self inductance

A. IT = 10<sup>-4 </sup>G
B. IT = 10<sup>5</sup>G
C. IT = 10<sup>3</sup>G

A. is perpendicular to the both
magnetic field and direction of motion
B. is proportional to the magnetic of
charges

C. vanishes when the motion is
directly opposite to the direction of
field

A0

C.05
D. -1

A. minimum
C. zero

D. none of these

B. left hand rule
C. head to tall rule
D. none of these

A. voltage

C. charges
D. none of these
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The most suitable material for permanent magnet is

The field around a moving charge is called

The sources of magnetic field are

Heating effect caused by an electric circuit is written

Electric generators which convert mechanical energy into

Solar cell converts sunlight directly into

If a 40 watt light bulb burns for 2 hours. how much heat is generated

The potential difference across the conductors should be maintained constant by
connecting the ends of wire to the terminal of a device called a source of

The speed of randomly moving electrons depends upon

The conventional current in a circuit is defined as " current which passes from a point at
higher potential to a point at lower potential as if it represent a movement of

The charge carriers in gases are

The charge carriers in electrolyte are positive and negative

The relation between charge 'Q' and current 'l' is given by

Which of the following represents an electric current?

The Sl unit of current is

One coulomb per second is equal to

The charge per unit time through any cross-section of a conductor is called

Free electrons are

w >

o

J
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. cobalt
.iron

alaminium
. conservative field
. non-conservative field

. none of these

. isolated magnetic poles
. charges at rest

. none of these

H = I<sup>2</sup>R
H = IR<sup>2</sup>t
H = IR<sup>2</sup>
solar energy

. thermal energy
. kinetic energy

. potential energy
thermal energy
mechanical energy

. 288 x 10<sup>8</sup>J
. 288 x 10<sup>5</sup>J
. 288 x 10<sup>6</sup>J
power

. resistance

. temperature

. pressure
volume

mass
negative charges

protons
electrons

electrons

ions
protons

protons
electrons
none of these
Q=1

Q = I<sup>2</sup>t
Q = I<sup>2</sup>/t

C<sup>-1</sup>

J.S<sup>-1</sup>
dynes<sup>-1</sup>

watt
coulomb
volt

. One volt

One hom
. One henry

. capacitance
. electric power

. potential difference

. tightly bound
. fixed

s e
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The current through a metallic conductor is due to the motion of

In RC series circuit the time during which the capacitor acquires 0.63 times the equilibrium
charge is called

Capacitance of two or more capacitors

C

Ow>
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. ugnuy Tixea

. protons
. neutrons

. electrons

. Decay constant

. None of these
. All of above

. Increases in series combination

. Remains unchanged
. None of the above



